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Unit loading and hauling cost ($ / BCY) = 
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[image: ]Solve (Example 4-3) if the tractor is a Rear wheel drive ( 40% front Axle and 
60% rear Axle )
Solution :  same steps but ..
Maximum usable pull = 44000 (0.6) × 0.45 = 11880 lb











· Effective grade is +10%, Distance one way= 500 ft and  derating factor is 10%
 (
بسبب ضعف كفاءة المحرك فإن الزمن الذي 
يستغرقه
 
Scraper
 للتنقل سيزداد
) (
Altitude adjustment
 :
Travel time = 3.56 * (1 + 0.1) = 3.916 min
)   Solution:   From fig  travel time = 3.56 min

3) The scraper whose performance curve is shown in figure 4 – 2 is operating at an altitude at which the derating factor is 10%. The scraper gross weight is 150000 lb and operating in grade 3% over a haul road having a rolling resistance factor of 100 lb/ton. What is the maximum speed of the scraper? 

Solution:
Effective grade = +3% + (100/20) = 8% [image: ]






















Required pull = 17000 lb
Altitude adjustment =  =  = 18888.89 lb
From fig (4-2)  maximum speed = 6.5 mph
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